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92. (b) ~ x2
-; 2aX + a2 <fit x + a ~ 'qJ1T ~ ~ ~ 

== 4 

x + a = 0 ⇒ x = - a ~ -q ~ "CR, 
(-a )2 - 2a x - a + a2 = 4 
⇒ a2 + 2a2 + a2 = 4 
== 4a2 = 4 == a2 == 1 
= a == ± 1 

93. (b) I+ 2 + 3 + ...... + 10 - 50 

= N(N +l) - 50 
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10(10 + 2) 
==---- 50 

2 
⇒ 5 X ·11 - 50 == 55 - 50 == 5 

94. (c) x, x+ 3,x+ 5, x+ 7, x+JOq~ =O 

lff-ar == x+x+ 3+ x +5+ x+7+x+l0 
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⇒ 9 X 5 = 5x+ 25 
⇒ 5x= 45-25 
⇒ 5x= 20 

⇒ x=4 
3m "ffr.i. ~ = X + 5 = 4 + 5 = 9 

=;+7=4+7= 11 
=x+ 10=4+ 10= 14 

.;:.,,~ 9+11 +14 
"ffR >t~ u11 cfiT ~ = ---
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= 34 = 11! 
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95. (a) ~ t ~ ~-~ cfil ~ 'CIT 

~co-m~1 
96. (c) ~ (-2, -3) ~ "Cfra: if WTTf mll I 
97. (c) llRT ~ ~ x M t 

~ it ijGf cn'r ~ 7-lffi = ~ 
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98. (c) x+ -=5 
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1 (x+ l)
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x+ 2 = - -2 
X X 

2 1 2 
X +, = (5) -2 

x-

= 25-2 = 23 
99. (d) (x + y)3 + (x3 + y3) 

= x3 + y 3 + 3xy (x + y) -x3 - y3 
= 3.xy (x + y) 

3IB: 3xy ~ 1f1J: ~ ciiT ~ 1011@0-s ~ I 
100.(d) 101. (d) 
102.(c) 103 .(c) 

104.(c) ~ fa:ffl cit ~~if~~~ 135 ~ cn'r 
fa:ffl if ~ ~ ~ 3W:ITT ~ ffl1l fa:ffl cfil 13 5 

~ 'CIT ~-ircf fa:ffl if ~I 

105.(b) +ITrTT ~ ~ X t 
X cfil 16% + 2] = X 
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~+21 = X 

100 

~ = 2 I 
25 

25x-4x = 21 
25 

2JX = 21 ⇒ X = 25 
25 

am: cffi ~ 25 t I 
trltcmif¥J~= 5 

3:frmr~=2ocftf 
5 ~ qft ¥f ~ = 20 X 5 = 100 qlf 
trltcm ~ .~ ~ ~ cfil° ~ = 10 qlf 

~~~~~in: "CJftcITT cfil" ¥T ~ 
= 100- 10 X 5 
=50cftf 

-rnz~t~m.t#~cr"ff "Cf"ffl-crftcmclftamrn 
. . 50 

3Wl = 5 = 10 qtf 

107.(c) ~ cn'r ~ ~ = 4 n 
2 7t r = 4n . 

· 47l" 
r=-

27l" 
r= 2 

~cfil~=nr2 

=, 7t (2)2 = 4 7t 

:!:f: ~ cn'r ~ = 8 7t 

27tr= 8 7t 

87l" 
r=-

27l" 
r= 4 

~ cfil ~ = 7t r2 

=1t(4)2=161t 

3ffl: ~ cfil ~ 'qR ~ ~ 
108.(d) N = 29 "T,r QI "11"-!'111 

~'111,~R, 
N ~ · 

-"c.'" ~ait cfil" ~ = 15 
N+l 
2=15 

N + l = 30 
N = 30- I 
N= 29 

109.(c) qifUf~ 
3ffl: cfilUTT !7 citur i ~ !, 

~ ~::::1:1 
lfAT cfi1'ur X ~ X t 
X + X = 90 



2x= 90 

90 
x =- ⇒ x=45° 

2 
110.(b) 111.(a) 
112.(d) 113.(a) 
114.(d) llRl ~ 6x ~ ll x _!1 

6x ~ llx cfiT lf.R =x 

51.\lrtljBI<, 6x x 1 lx = 462 x x 
66 X = 462 

462 
x=-

66 

x=7 

3ffl: ~ ~3TT cfiT lf.R 7 m7TT I 
115.(c) ~ ~ cn't ~ = 23 q'ff 
~ (1) it, 

~(2)it, 

m- = 23 + 8 = 31 

3RR = 23 - 8 = 15 

m- = 23 + 12 = 35 

3RR = 23 - 12=11 

m- = 23 + 18 = 41 

3RR = 23 - 18 = 5 

~ (3) ~ m- q 3RR ~ ~ ~ (~ 

~~I) 

3Tif: ~ ~ cn't 3lf73: 18 q'ff m1ft I 
116.(d) lfRT GJ ~ m§:IT x ~ y ~I 

x= 2k,y = 5k 
2k+ 5k= 48 
7k= 48 

k 48 n 
· =-:t:~ 
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3Tif: ~ m§!rralf cfiT ~ 2 : 5 ~ ITT ~ t I 
117.(c) n 1:!:cfi ~~ti 
~ (3) it, X = 1, 3,5 ~ l:R, 

E (1) = 3112 + 5 = 3(1 )2 + 5 = 8 WT m§'.IT 
E (3) = 3n2 + 5 = 3(3)2 + 5 = 32 WT m§'.IT 

E (5) = 3112 + 5 = 3(5)2 + 5 = 80 WT m§'.IT 

118. (c) ~ 60 ~ if ~ ij = } 'qT7f 

JfrRcif~ = _J__'lWT 
· 3x60 

2~ 11 
( 5 ~ ~ 5 x60 = 132 ~) 

132 frr.R if ~ = ~ _ 11 
. 3 X 60 - )5 'qT7f 

ffi ~ = 1-.!..!. = _±_ 
. 15 · 15 
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